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Read each question carefully before you start to answer it.
Try to answer every question.

You are advised to show your workings.

Check your answers if you have time at the end.
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Workings

(ii) Advise, giving a reason, which of the order sizes should be selected.

(i) State what is meant by the term economic order quantity.
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(iii) maximum inventory control level.

(c) Explain two reasons why it is important to operate an effective system of
inventory management and control.

(4)

(Total for Question 1 = 18 marks)
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(ii) internal rate of return

(4)
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(b) Advise whether Forrest Ltd should invest in the new machinery, based on all of
your calculations in part (a).

(3)
(c) Evaluate why it is more appropriate to calculate the discounted payback, rather
than calculating the traditional (non-discounted) payback, when determining
whether an investment project should be undertaken.
(4)

(Total for Question 2 = 20 marks)
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(@) Complete the table showing the flexed cost budget for the actual output of
8400 units, the actual costs and the variances (clearly labelling each variance as
Adverse or Favourable).
(16)
Flexed budget Actual Variance
$ $ $
Production Costs 8 400 units 8 400 units
Direct materials
Direct labour
Production overheads
Selling and distribution
Administration
Total Costs
Workings
......................................................................... )
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(d) Explain two effects that time has on cost behaviour.
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(Total for Question 3 = 22 marks)

'DONOTWRITEINTHISAREA =~ =

. J
13

R 000 T Turn over »
P 5 7 4 7 4 A 0 1 3 2 4 urh over




VIUSIHLNEILIYM ION.Od

DO NOTWRITE IN:-THIS:AREA

YIUY SIHENEZLIHMNLON:OC

DONOTWRITEINTHIS AREA

YIHY SIHENEI LA LON-Od

DONOTWRITEIN-THIS AREA

t

ounts are kept

-

1C

G

g.of Manth|2

A |

7
)

i
)

egin
$
6910
261N
S
821040
351200
134/50

165[050

67100
2
650
)
650

20100

48140

5
5

t the

t

a

(S0}

disystem where the cost

uring Month

501

alances remaingd

HAYCUH
ol
g ) | =y

the Cost'Ledger

L3

—mkegrate

=
nagr-=

calariad incurrac

-ty
4

sa%ron

)

mro

iR e

¥

et and

e
P
£

s

drre
a
o

dd eantro
S-CORLY
nea

onth 4,/the Tollowing

rneaads ansorped

A

AL
(@ 1 @\
v

<
ASAC SIS R RN |

ray

25Nl
C

of

C

nre

agé
a

di
g

ductiono

' o

i
HA=

T ray

L] RASA ]

T LLLLA %L _\_.LII arraTraccu IIIﬂ -y lu
ished . aoods control

ductiono

direct-fa
P

separate from the ﬁuﬁgéﬁa counts.
The following balances werelin

Raw materialscontrol

Financial fedger|/contr

The following transactions took place
Purchases|of raw materials

Indirect materials issued

\A vyl
28

-

F

D

| 1V}

Atthe en

Raw materials/control
Work:in-progress

Ei

Direct w
Indlit

Ot

Pro
Sales

4 Hemih(l‘How Ltd o é’a*e

4 2 4

1

7 4 A O

P 5 7 4

14




(@) Prepare the following Cost Ledger accounts for Month 2, using the information
provided, balancing off all accounts.

(i) Raw Materials Control Account
(3)
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(ii) Wages Control Account
(2)

Details $ Details S

SRR |
S

o%
3

5
o
5555

J
15

R 00 0 T Tam over »
P 5 7 4 7 4 A 0 1 5 2 4

KKK
XX
o




VIUSIHLNEILIYM ION.Od YIUY SIHENEZLIHMNLON:OC YIHY SIHENEI LA LON-Od

DO NOTWRITE IN:-THIS:AREA DONOTWRITEINTHIS AREA DONOTWRITEIN-THIS AREA

ls
IS

Details
Neat:

+/

ccolnt
CCOU

ntral
OO

s/C

7

D

[TaVald
OO

etails

<

in
}

Details

otk
o

/,

-

7

(iii) Produdation |Overhead Control Account
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(v) Finished Goods Control Account

(2)

Details $ Details S
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(vi) Financial Ledger Control Account
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(i) trade receivables collection period in days (rounded to the nearest day)
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S o (b) Evaluate the liquidity of the company, making use of your calculations in part (a)
and the financial information provided in the question.
(8)
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(Total for Question 5 = 18 marks)

TOTAL FOR PAPER = 100 MARKS
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